

NEPTUNE CAMPUS, NEAR ATLANTIS HEIGHTS, DR.VIKRAM SARABHAI MARG, VADIWADI, VADODARA,GUJARAT, 390007 Ph.No.: 0265-2350630/39 Website: www.neptunerealtygroup.com

WORK ORDER

WO No.

63

SHIP TO:

WO Date:

22/12/2020

NEPTUNE REALTY PVT. LTD.

Contractor Name

GREENWOOD ASPIRE EXP

Address:

Krishna Associates

S/B-14, Indra Complex,, Manjalpur,

Neptune Campus, Sarabhai Road, Vadodara

Vadodara

Contact No

WO Title

PAN:

CIVIL WORK FOR ALL TOWER

GST:

GST No:

24AAACN9837D1ZI

Gujarat

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

Sr.No	Item Description	Qty	Unit	Rate Rs.	Amount	GST 9	6
1	TOWER A UP TO PLINTH RCC WORK						
	LABOR FOR RCC SLAB (SQFT)	13,256.76	SQFT	257.00	3406987.32	18	%
Spc.	BASEMENT RCC WORK						
2	TOWER A UP TO PLINTH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	13,256.76	SQFT	110.00	1458243.60	18	%
Spc.	TOWER A PLASTER WORK						
3	TOWER A GROUND FLOOR RCC WORK FOR						
	SLAB	7 400 70	COET	257.00	4924050 02	40	0/
Spc.	TOWER A RCC WORK	7,108.79	SQFT	257.00	1826959.03	18	%
эрс.	TOWER A RCC WORK						
4	TOWER A GROUND FLOOR PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,108.79	SQFT	110.00	781966.90	18	%
Spc.	TOWER A PLASTER WORK						
5	TOWER A 1ST FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,024.48	SQFT	220.00	1545385.60	18	%
Spc.	TOWER A RCC WORK	•					
-							

6	TOWER A 1ST FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,024.48	SQFT	51.00	358248.48	18	%

7	TOWER A 1ST FLOOR INTERNAL SINGLE						
	COAT PLASTER LABOUR FOR PLASTER (SQFT)	7,024.48	SQFT	54.00	379321.92	18	
Spc.	TOWER A PLASTER WORK	· · · · · · · · · · · · · · · · · · ·					
8	TOWER A 1ST FLOOR EXTERNAL DOUBLE COAT PLASTER						
	LABOUR FOR PLASTER (SQFT)	7,024.48	SQFT	42.00	295028.16	18	
spc.	TOWER A PLASTER WORK						
9	TOWER A 2ND FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,024.48	SQFT	220.00	1545385.60	18	
Spc.	TOWER A RCC WORK						
10	TOWER A 2ND FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,024.48	SQFT	51.00	358248.48	18	
11	TOWER A 2ND FLOOR INTERNAL SINGLE COAT PLASTER						
	LABOUR FOR PLASTER (SQFT)	7,024.48	SQFT	54.00	379321.92	18	
Spc.	TOWER A PLASTER WORK						
12	TOWER A 2ND FLOOR EXTERNAL DOUBLE COAT PLASTER						
	LABOUR FOR PLASTER (SQFT)	7,024.48	SQFT	42.00	295028.16	18	
Spc.	TOWER A PLASTER WORK						
13	TOWER A 3RD FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,576.62	SQFT	220.00	1666856.40	18	
Spc.	TOWER A RCC WORK						
14	TOWER A 3RD FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,576.62	SQFT	51.00	386407.62	18	
15	TOWER A 3RD FLOOR INTERNAL SINGLE COAT PLASTER						
Spc.	TOWER A PLASTER WORK	7,576.62	SQFT	54.00	409137.48	18	
16	TOWER A 3RD FLOOR EXTERNAL DOUBLE COAT PLASTER						
	LABOUR FOR PLASTER (SQFT) TOWER A PLASTER WORK	7,576.62	SQFT	42.00	318218.04	18	

17	TOWER A 4TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,576.62	SQFT	220.00	1666856.40	18	
Spc.	TOWER A RCC WORK						
18	TOWER A 4TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,576.62	SQFT	51.00	386407.62	18	
19	TOWER A 4TH FLOOR INTERNAL SINGLE COAT PLASTER - SQ FT						
Snc	LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	54.00	409137.48	18	
spc.	TOWER A PLASTER WORK						
20	TOWER A 4TH FLOOR EXTERNAL DOUBLE COAT PLASTER - SQ FT						
	LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	42.00	318218.04	18	
Spc.	TOWER A PLASTER WORK						
21	TOWER A 5TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,576.62	SQFT	220.00	1666856.40	18	
Spc.	TOWER A RCC WORK						
22	TOWER A 5TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,576.62	SQFT	51.00	386407.62	18	
23	TOWER A 5TH FLOOR INTERNAL SINGLE						
	COAT PLASTER LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	54.00	409137.48	18	
Spc.	TOWER A PLASTER WORK	7,370.02	<u> </u>	34.00	407137.40	- 10	
24	TOWER A 5TH FLOOR EXTERNAL DOUBLE COAT PLASTER						
	LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	42.00	318218.04	18	
Spc.	TOWER A PLASTER WORK						
25	TOWER A 6TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,574.49	SQFT	220.00	1666387.80	18	
Spc.	TOWER A RCC WORK						
26	TOWER A 6TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,574.49	SQFT	51.00	386298.99	18	
27	TOWER A 6TH FLOOR INTERNAL SINGLE COAT PLASTER						
	LABOUR FOR PLASTER (SQFT)	7,574.49	SQFT	54.00	409022.46	18	

us p	er the instruction given by our site incharge.						
28	TOWER A 6TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER LABOUR FOR PLASTER (SQFT)	7,574.49	SQFT	42.00	318128.58	18	
Spc.	TOWER A PLASTER WORK	7,07			3.3.23.33		_
29	TOWER A 7TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,024.48	SQFT	220.00	1545385.60	18	_
Spc.	TOWER A RCC WORK						
30	TOWER A 7TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,024.48	SQFT	51.00	358248.48	18	
31	TOWER A 7TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						_
	LABOUR FOR PLASTER (SQFT)	7,024.48	SQFT	54.00	379321.92	18	
Spc.	TOWER A PLASTER WORK						
32	TOWER A 7TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	7,024.48	SOFT	42.00	295028.16	18	
Spc.	TOWER A PLASTER WORK	7,024.40	JQI I	42.00	273020.10	10	_
33	TOWER A 8TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,026.61	SQFT	220.00	1545854.20	18	_
Spc.	TOWER A RCC WORK						
34	TOWER A 8TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,026.61	SQFT	51.00	358357.11	18	_
35	TOWER A 8TH FLOOR INTERNAL SINGLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,026.61	SQFT	54.00	379436.94	18	
Spc.	TOWER A PLASTER WORK	·					
36	TOWER A 8TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	7.004.41		40.00	205447 42	4.5	
Spc	LABOUR FOR PLASTER (SQFT)	7,026.61	SQFT	42.00	295117.62	18	_
νpc.	TOWER A PLASTER WORK						
37	TOWER A 9TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,576.62	SQFT	220.00	1666856.40	18	_
spc.	TOWER A RCC WORK						
38	TOWER A 9TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,500.00	SQFT	51.00	382500.00	18	

	er the instruction given by our site incharge.						
39	TOWER A 9TH FLOOR MASONRY WORK	77.40	50FT	54.00	2007.42	40	
40	LABOUR FOR BLOCK WORK (SQFT)	76.62	SQFT	51.00	3907.62	18	
40	TOWER A 9TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	54.00	409137.48	18	
Spc.		· · · · · · · · · · · · · · · · · · ·					
41	TOWER A 9TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	42.00	318218.04	18	_
Spc.	TOWER A PLASTER WORK						
42	TOWER A 10TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,602.64	SQFT	220.00	1672580.80	18	
Spc.	TOWER A RCC WORK						
43	TOWER A 10TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,602.64	SQFT	51.00	387734.64	18	
44	TOWER A 10TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,602.64	SQFT	54.00	410542.56	18	
spc.	TOWER A PLASTER WORK						
45	TOWER A 10TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,602.64	SQFT	42.00	319310.88	18	
Spc.	TOWER A PLASTER WORK						
46	TOWER A 11TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,630.62	SQFT	220.00	1678736.40	18	
Spc.	TOWER A RCC WORK						
47	TOWER A 11TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,630.62	SQFT	51.00	389161.62	18	
48	TOWER A 11TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,630.62	SQFT	54.00	412053.48	18	_
Spc.	TOWER A PLASTER WORK						
49	TOWER A 11TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	7 620 62	SOFT	42.00	320484 04	10	
	LABOUR FOR PLASTER (SQFT)	7,630.62	SQFT	42.00	320486.04	18	

50	er the instruction given by our site incharge. TOWER A 12TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,655.49	SQFT	220.00	1684207.80	18	
Spc.	TOWER A RCC WORK	,					
51	TOWER A 12TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,655.49	SQFT	51.00	390429.99	18	
52	TOWER A 12TH FLOOR INTERNAL SINGLE COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,655.49	SQFT	54.00	413396.46	18	
Spc.	TOWER A PLASTER WORK	7,033.47	<u> </u>	34.00	413370.40	- 10	
53	TOWER A 12TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,655.49	SQFT	42.00	321530.58	18	
Spc.	TOWER A PLASTER WORK	7,033.47	3Qi 1	42.00	321330.36	- 10	
54	TOWER A 13TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,219.48	SQFT	220.00	1588285.60	18	
Spc.	TOWER A RCC WORK						
55	TOWER A 13TH FLOOR MASONRY WORK	7,219.48	SQFT	51,00	368193.48	10	
56	TOWER A 13TH FLOOR INTERNAL SINGLE	7,217.40	JQI I	31,00	300173.40	18	_
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,219.48	SQFT	54.00	389851.92	18	
Spc.	TOWER A PLASTER WORK	,		<u> </u>			_
57	TOWER A 13TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,219.48	SQFT	42,00	303218.16	18	
Spc.	TOWER A PLASTER WORK	7,217.10	30,1	12,00	303210.10	10	
58	TOWER A 14TH FLOOR RCC WORK FOR SLAB						
Spc.	TOWER A RCC WORK	7,270.36	SQFT	220.00	1599479.20	18	
59	TOWER A 14TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,270.36	SQFT	51.00	370788.36	18	
60	TOWER A 14TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,270.36	SQFT	54.00	392599.44	18	

-	er the instruction given by our site incharge.						
61	TOWER A 14TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,270.36	SQFT	42.00	305355.12	18	
Spc.	TOWER A PLASTER WORK	7,270.36	3QF1	42.00	303333.12	10	_
	TOWER AT EASTER WORK						
62	TOWER A 15TH FLOOR RCC WORK FOR SLAB						
_	LABOUR FOR RCC	7,738.62	SQFT	220.00	1702496.40	18	_
Spc.	TOWER A RCC WORK						
63	TOWER A 15TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,738.62	SQFT	51.00	394669.62	18	
64	TOWER A 15TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,738.62	SQFT	54.00	417885.48	18	_
Spc.	TOWER A PLASTER WORK						
65	TOWER A 15TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,738.62	SQFT	42.00	325022.04	18	
Spc.	TOWER A PLASTER WORK	· · · · · · · · · · · · · · · · · · ·					-
66	TOWER A 16TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,764.64	SQFT	220.00	1708220.80	18	
Spc.	TOWER A RCC WORK						_
67	TOWER A 16TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,764.64	SQFT	51.00	395996.64	18	
68	TOWER A 16TH FLOOR INTERNAL SINGLE						
	COAT PLASTER WORK	7,764.64	SQFT	54.00	419290.56	18	
Spc.	TOWER A PLASTER WORK	7,704.04	3QF1	54.00	419290.30	10	_
69	TOWER A 16TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,764.64	SQFT	42.00	326114.88	18	_
Spc.	TOWER A PLASTER WORK						
70	TOWER A 17TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,675.92	SQFT	220.00	1688702.40	18	_
Spc.	Civil work up to plaster from 17th floor to 19th floor						_
71	TOWER A 17TH FLOOR MASONRY WORK						_
	LABOUR FOR BLOCK WORK (SQFT)	7,675.92	SQFT	51.00	391471.92	18	

72	er the instruction given by our site incharge.						
12	TOWER A 17TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,675.92	SQFT	54.00	414499.68	18	
73	TOWER A 17TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,675.92	SQFT	42.00	322388.64	18	
74	TOWER A 18TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,684.82	SQFT	220.00	1690660.40	18	
Spc.	Civil work up to plaster from 17th floor to 19th floor						
75	TOWER A 18TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,684.82	SQFT	51.00	391925.82	18	
76	TOWER A 18TH FLOOR INTERNAL SINGLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,684.82	SQFT	54.00	414980.28	18	
77	TOWER A 18TH FLOOR EXTERNAL DOUBLE	7,004.02	ا ایکد	J4.00	414700.20	10	_
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,684.82	SQFT	42.00	322762.44	18	
78	TOWER A 19TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	5,811.86	SQFT	220.00	1278609.20	18	
Spc.	Civil work up to plaster from 17th floor to 19th floor						
79	TOWER A 19TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	5,811.86	SQFT	51.00	296404.86	18	
80	TOWER A 19TH FLOOR INTERNAL SINGLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	5,811.86	SQFT	54.00	313840.44	18	
81	TOWER A 19TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	5,811.86	SQFT	42.00	244098.12	18	
82	TOWER B UP TO PLINTH RCC WORK	· · · · · · · · · · · · · · · · · · ·					
	LABOR FOR RCC SLAB (SQFT)	11,553.47	SQFT	257.00	2969241.79	18	
Spc.	BASEMENT RCC WORK	,					
83	TOWER B UP TO PLINTH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	11,553.47	SQFT	110.00	1270881.70	18	
Spc.	TOWER B PLASTER WORK						
84	TOWER B GROUND FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	6,962.57	SQFT	257.00	1789380.49	18	
	TOWER B RCC WORK	-,	-				

QE	per the instruction given by our site incharge.						
85	TOWER B GROUND FLOOR PLASTER WORK LABOUR FOR PLASTER (SQFT)	6,962.57	SQFT	110.00	765882.70	18	
Spc.	TOWER B PLASTER WORK	0,702.37	JQI 1	110.00	703002.70	10	
86	TOWER B 1ST FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	6,958.37	SQFT	220.00	1530841.40	18	
Spc.	TOWER B RCC WORK						
87	TOWER B 1ST FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	6,958.37	SQFT	51.00	354876.87	18	
88	TOWER B 1ST FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	6,958.37	SQFT	54.00	375751.98	18	
Spc.	TOWER B PLASTER WORK						
89	TOWER B 1ST FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	6,958.37	SQFT	42.00	292251.54	18	
Spc.	TOWER B PLASTER WORK						
90	TOWER B 2ND FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	6,958.37	SQFT	220.00	1530841.40	18	_
Spc.	TOWER B RCC WORK						
91	TOWER B 2ND FLOOR MASONRY WORK						
02	LABOUR FOR BLOCK WORK (SQFT)	6,958.37	SQFT	51.00	354876.87	18	
92	TOWER B 2ND FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	6,958.37	SQFT	54.00	375751.98	18	
Spc.	TOWER B PLASTER WORK						
93	TOWER B 2ND FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	6,958.37	SQFT	42.00	292251.54	18	
Spc.	TOWER B PLASTER WORK						
94	TOWER B 3RD FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,501.67	SQFT	220.00	1650367.40	18	
Spc.	TOWER B RCC WORK						
95	TOWER B 3RD FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,501.67	SQFT	51.00	382585.17	18	

96	per the instruction given by our site incharge.						
90	TOWER B 3RD FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,501.67	SQFT	54.00	405090.18	18	
Spc.	TOWER B PLASTER WORK						
97	TOWER B 3RD FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	7.504.47	COET	42.00	245070.44	40	
Snc	TOWER B PLASTER WORK	7,501.67	SQFT	42.00	315070.14	18	
ope.	TOWER B FLASTER WORK						
98	TOWER B 4TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,501.67	SQFT	220.00	1650367.40	18	
Spc.	TOWER B RCC WORK						
99	TOWER B 4TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,501.67	SQFT	51.00	382585.17	18	
100	TOWER B 4TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,501.67	SQFT	54.00	405090.18	18	
Spc.	TOWER B PLASTER WORK						
101	TOWER B 4TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK	7 501 47	SOET.	42.00	315070.14	40	
Spc	TOWER B PLASTER WORK	7,501.67	SQFT	42.00	313070.14	18	
JPC.	TOWER D PLASTER WORK						
102	TOWER B 5TH FLOOR RCC WORK FOR SLAB						
<u> </u>	LABOUR FOR RCC	7,501.67	SQFT	220.00	1650367.40	18	
Spc.	TOWER B RCC WORK						
103	TOWER B 5TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,501.67	SQFT	51.00	382585.17	18	
104	TOWER B 5TH FLOOR INTERNAL SINGLE COAT PLASTER WORK	7 504 77	COET	E4.00	405000 4.9	40	
Spc.	TOWER B PLASTER WORK	7,501.67	SQFT	54.00	405090.18	18	
105	TOWER B 5TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,501.67	SQFT	42.00	315070.14	18	

106	TOWER B 6TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,499.81	SQFT	220.00	1649958.20	18	
Spc.	TOWER B RCC WORK						
107	TOWER B 6TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,499.81	SQFT	51.00	382490.31	18	
108	TOWER B 6TH FLOOR INTERNAL SINGLE COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,499.81	SQFT	54.00	404989.74	18	
Spc.	TOWER B PLASTER WORK	7,477.01	JQI I	34.00	404707.74	10	
109	TOWER B 6TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,499.81	SQFT	42.00	314992.02	18	
Spc.	TOWER B PLASTER WORK	7,499.01	SQF1	42.00	314992.02	10	
110	TOWER B 7TH FLOOR RCC WORK FOR SLAB						
	TOWER B RCC WORK	6,958.37	SQFT	220.00	1530841.40	18	
•							
111	TOWER B 7TH FLOOR MASONRY WORK				25.4054.05		
112	LABOUR FOR BLOCK WORK (SQFT)	6,958.37	SQFT	51.00	354876.87	18	_
112	TOWER B 7TH FLOOR INTERNAL SINGLE COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	6,958.37	SQFT	54.00	375751.98	18	
Spc.	TOWER B PLASTER WORK	3,733.3			0.0.0		
113	TOWER B 7TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	6,958.37	SQFT	42.00	292251.54	18	
Spc.	TOWER B PLASTER WORK	3,733:37	30.	12.00	2/2231131		
114	TOWER B 8TH FLOOR RCC WORK FOR SLAB	- 404 - 0			4540404.00		
Spc.	TOWER B RCC WORK	7,134.70	SQFT	220.00	1569634.00	18	
115	TOWER B 8TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,134.70	SQFT	51.00	363869.70	18	
116	TOWER B 8TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,134.70	SQFT	54.00	385273.80	18	

	have pleasure in placing with you our Work order for er the instruction given by our site incharge.	the following contr	act kindly e	execute the work			
117	TOWER B 8TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,134.70	SQFT	42.00	299657.40	18	
Spc.	TOWER B PLASTER WORK						
118	TOWER B 9TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,502.63	SQFT	220.00	1650578.60	18	
Spc.	TOWER B RCC WORK						
119	TOWER B 9TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,502.63	SQFT	51.00	382634.13	18	
120	TOWER B 9TH FLOOR INTERNAL SINGLE COAT PLASTER WORK	7.502.42		54.00	4054 42 02	40	
Spc.	TOWER B PLASTER WORK	7,502.63	SQFT	54.00	405142.02	18	
121	TOWER B 9TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,502.63	SQFT	42.00	315110.46	18	
Spc.	TOWER B PLASTER WORK	7,302.03	30,1	12.00	313110.10	-10	
122	TOWER B 10TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,527.84	SQFT	220.00	1656124.80	18	
Spc.	TOWER B RCC WORK						
123	TOWER B 10TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,527.84	SQFT	51.00	383919.84	18	
124	TOWER B 10TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,527.84	SQFT	54.00	406503.36	18	
Spc.	TOWER B PLASTER WORK	·					
125	TOWER B 10TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,527.84	SQFT	42.00	316169.28	18	
Spc.	TOWER B PLASTER WORK						
126	TOWER B 11TH FLOOR RCC WORK FOR SLAB						
Spc.	TOWER B RCC WORK	7,555.67	SQFT	220.00	1662247.40	18	
-							
127	TOWER B 11TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,555.67	SQFT	51.00	385339.17	18	

as p	er the instruction given by our site incharge.						
128	TOWER B 11TH FLOOR INTERNAL SINGLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,555.67	SQFT	54.00	408006.18	18	
Spc.	TOWER B PLASTER WORK						
129	TOWER B 11TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,555.67	SQFT	42.00	317338.14	18	
Spc.	TOWER B PLASTER WORK						
130	TOWER B 12TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,580.81	SQFT	220.00	1667778.20	18	
Spc.	TOWER B RCC WORK						
131	TOWER B 12TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,580.81	SQFT	51.00	386621.31	18	
132	TOWER B 12TH FLOOR INTERNAL SINGLE						_
	COAT PLASTER WORK	7 500 04	COET	F 4 00	400272 74	40	
Spc.	TOWER B PLASTER WORK	7,580.81	SQFT	54.00	409363.74	18	
133	TOWER B 12TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,580.81	SQFT	42.00	318394.02	18	
Spc.	TOWER B PLASTER WORK	7,300.01	3Qi 1	42.00	310374.02	10	
134	TOWER B 13TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,154.15	SQFT	220.00	1573913.00	18	
Spc.	TOWER B RCC WORK						
135	TOWER B 13TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,154.15	SQFT	51.00	364861.65	18	
136	TOWER B 13TH FLOOR INTERNAL SINGLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,154.15	SQFT	54.00	386324.10	18	
Spc.	TOWER B PLASTER WORK	7,131.13	30, 1	34,00	300321.10		
137	TOWER B 13TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,154.15	SQFT	42.00	300474.30	18	
Snc	TOWER B PLASTER WORK						_

138	TOWER B 14TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,204.94	SQFT	220.00	1585086.80	18	
pc.	TOWER B RCC WORK						
139	TOWER B 14TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,204.94	SQFT	51.00	367451.94	18	
140	TOWER B 14TH FLOOR INTERNAL SINGLE COAT PLASTER WORK	7,204.94	SQFT	54.00	389066.76	18	
Spc.	TOWER B PLASTER WORK	7,204.74	3Qi i	34.00	367000.70	10	
141	TOWER B 14TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,204.94	SQFT	42.00	302607.48	18	
Spc.	TOWER B PLASTER WORK						
142	TOWER B 15TH FLOOR RCC WORK FOR SLAB						
	TOWER B RCC WORK	7,664.63	SQFT	220.00	1686218.60	18	
143	TOWER B 15TH FLOOR MASONRY WORK						
143	LABOUR FOR BLOCK WORK (SQFT)	7,664.63	SQFT	51.00	390896.13	18	
144	TOWER B 15TH FLOOR INTERNAL SINGLE COAT PLASTER WORK	7,001.03	30, 1	31,00	370070.13	10	
	LABOUR FOR PLASTER (SQFT)	7,664.63	SQFT	54.00	413890.02	18	
Spc.	TOWER B PLASTER WORK						
145	TOWER B 15TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,664.63	SQFT	42.00	321914.46	18	
Spc.	TOWER B PLASTER WORK						
146	TOWER B 16TH FLOOR RCC WORK FOR SLAB						
C	LABOUR FOR RCC	7,691.63	SQFT	220.00	1692158.60	18	_
ърс.	TOWER B RCC WORK						
147	TOWER B 16TH FLOOR MASONRY WORK						
4.40	LABOUR FOR BLOCK WORK (SQFT)	7,691.63	SQFT	51.00	392273.13	18	
148	TOWER B 16TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,691.63	SQFT	54.00	415348.02	18	

149	TOWER B 16TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,691.63	SQFT	42.00	323048.46	18	
Spc	TOWER B PLASTER WORK	7,091.03	3QF1	42.00	323046.46	10	
.	TOWER DI LASTER WORK						
150	TOWER B 17TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,541.70	SQFT	220.00	1659174.00	18	
Spc.	Civil work up to plaster from 17th floor to 19th floor						
151	TOWER B 17TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,541.70	SQFT	51.00	384626.70	18	
152	TOWER B 17TH FLOOR INTERNAL SINGLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,541.70	SQFT	54.00	407251.80	18	
153	TOWER B 17TH FLOOR EXTERNAL DOUBLE	7,311.70	30.	365	10/231.00		
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,541.70	SQFT	42.00	316751.40	18	
154	TOWER B 18TH FLOOR RCC WORK FOR SLAB	,- ,-		<u> </u>			
	LABOUR FOR RCC	7,568.70	SQFT	220.00	1665114.00	18	
Spc.	Civil work up to plaster from 17th floor to 19th floor						
155	TOWER B 18TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,568.70	SQFT	51.00	386003.70	18	
156	TOWER B 18TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,568.70	SQFT	54.00	408709.80	18	
157	TOWER B 18TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,568.70	SQFT	42.00	317885.40	18	
158	TOWER B 19TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	5,729.51	SQFT	220.00	1260492.20	18	
Spc.	Civil work up to plaster from 17th floor to 19th floor						
159	TOWER B 19TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	5,729.51	SQFT	51.00	292205.01	18	
160	TOWER B 19TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
17.1	LABOUR FOR PLASTER (SQFT)	5,729.51	SQFT	54.00	309393.54	18	
161	TOWER B 19TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
1.72	LABOUR FOR PLASTER (SQFT)	5,729.51	SQFT	42.00	240639.42	18	
162	TOWER C UP TO PLINTH RCC WORK	40.000		0.5.5	24400= :5		
_	LABOR FOR RCC SLAB (SQFT) BASEMENT RCC WORK	13,292.16	SQF I	257.00	3416085.12	18	

163	TOWER C UP TO PLINTH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	13,292.16	SQFT	110.00	1462137.60	18	
Spc.	TOWER C PLASTER WORK						
164	TOWER C GROUND FLOOR RCC WORK FOR						
	SLAB	7 100 70	COET	257.00	1826959.03	40	
Spc	LABOUR FOR RCC TOWER C RCC WORK	7,108.79	SQFT	257.00	1626939.03	18	_
	TOWER CIRCC WORK						
165	TOWER C GROUND FLOOR PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,108.79	SQFT	110.00	781966.90	18	_
Spc.	TOWER C PLASTER WORK						
166	TOWER C 1ST FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,024.48	SQFT	220.00	1545385.60	18	
Spc.	TOWER C RCC WORK						
167	TOWER C 1ST FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,024.48	SQFT	51.00	358248.48	18	
168	TOWER C 1ST FLOOR INTERNAL SINGLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,024.48	SQFT	54.00	379321.92	18	
Spc.	TOWER C PLASTER WORK	.,,,,					_
169	TOWER C 1ST FLOOR EXTERNAL DOUBLE COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,024.48	SQFT	42.00	295028.16	18	
Spc.	TOWER C PLASTER WORK	7,024.40	3QF1	42.00	293026.16	10	_
170	TOWER C 2ND FLOOR RCC WORK FOR SLAB	7.004.40	COTT	222.02	45 45205 40	40	
Spc.	TOWER C RCC WORK	7,024.48	SQFT	220.00	1545385.60	18	_
171	TOWER C 2ND FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,024.48	SQFT	51.00	358248.48	18	_
172	TOWER C 2ND FLOOR INTERNAL SINGLE COAT PLASTER WORK	7.00 / 15		F. / 00	27022 / 22	4-	
_	TOWER C PLASTER WORK	7,024.48	SQFT	54.00	379321.92	18	_

as p	have pleasure in placing with you our Work order for her the instruction given by our site incharge.		,				
173	TOWER C 2ND FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	7 02 4 40	COET	42.00	205020 47	40	
<u> </u>	LABOUR FOR PLASTER (SQFT)	7,024.48	SQFT	42.00	295028.16	18	
spc.	TOWER C PLASTER WORK						
174	TOWER C 3RD FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,576.62	SQFT	220.00	1666856.40	18	
Spc.	TOWER C RCC WORK						
175	TOWER C 3RD FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,576.62	SQFT	51.00	386407.62	18	
176	TOWER C 3RD FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	54.00	409137.48	18	
Spc.	TOWER C PLASTER WORK						
177	TOWER C 3RD FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	42.00	318218.04	18	
Spc.	TOWER C PLASTER WORK	· · · · · · · · · · · · · · · · · · ·					
178	TOWER C 4TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,576.62	SQFT	220.00	1666856.40	18	
Spc.	TOWER C RCC WORK						
179	TOWER C 4TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,576.62	SQFT	51.00	386407.62	18	
180	TOWER C 4TH FLOOR INTERNAL SINGLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	54.00	409137.48	18	
Spc.	TOWER C PLASTER WORK	7,370.02	3QF1	54.00	407137.46	10	
181	TOWER C 4TH FLOOR EXTERNAL DOUBLE						
.01	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	42.00	318218.04	18	
Spc.	TOWER C PLASTER WORK						
182	TOWER C 5TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,576.62	SQFT	220.00	1666856.40	18	
Spc.	TOWER C RCC WORK						
183	TOWER C 5TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,576.62	SQFT	51.00	386407.62	18	

as p	per the instruction given by our site incharge.						
184	TOWER C 5TH FLOOR INTERNAL SINGLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	54.00	409137.48	18	
Spc.	TOWER C PLASTER WORK	7,370.02	30,1	3 1.00	107137110		
185	TOWER C 5TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	7 57/ /2	COET	42.00	249249.04	40	
Spc.	TOWER C PLASTER WORK	7,576.62	SQFT	42.00	318218.04	18	
186	TOWER C 6TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,574.49	SQFT	220.00	1666387.80	18	
Spc.	TOWER C RCC WORK						
407	TOWER CATHELOOP HASONEY WORK						
187	TOWER C 6TH FLOOR MASONRY WORK	7,574.49	SQFT	51.00	386298.99	18	
188	TOWER C 6TH FLOOR INTERNAL SINGLE	7,374.49	3QF1	51.00	300290.99	10	
100	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,574.49	SQFT	54.00	409022.46	18	
Spc.	TOWER C PLASTER WORK						
189	TOWER C 6TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,574.49	SQFT	42.00	318128.58	18	
Spc.	TOWER C PLASTER WORK						
190	TOWER C 7TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,024.48	SQFT	220.00	1545385.60	18	
Spc.	TOWER C RCC WORK						
101	TOWER CITILEI OOR HASONRY WORK						
191	TOWER C 7TH FLOOR MASONRY WORK LABOUR FOR BLOCK WORK (SQFT)	7,024.48	SQFT	51.00	358248.48	18	
192	TOWER C 7TH FLOOR INTERNAL SINGLE	7,024.40	ווער	51.00	330270.40	10	
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,024.48	SQFT	54.00	379321.92	18	
Spc.	TOWER C PLASTER WORK						
193	TOWER C 7TH FLOOR EXTERNAL DOUBLE						
-	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,024.48	SQFT	42.00	295028.16	18	
Spc.	TOWER C PLASTER WORK						

194	TOWER C 8TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,026.61	SQFT	220.00	1545854.20	18	
Spc.	TOWER C RCC WORK						
195	TOWER C 8TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,026.61	SQFT	51.00	358357.11	18	
196	TOWER C 8TH FLOOR INTERNAL SINGLE COAT PLASTER WORK	7.004.44	5057	54.00	270 424 0 4	40	
Spc.	TOWER C PLASTER WORK	7,026.61	SQFT	54.00	379436.94	18	
197	TOWER C 8TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,026.61	SQFT	42.00	295117.62	18	
Spc.	TOWER C PLASTER WORK						
198	TOWER C 9TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,576.62	SQFT	220.00	1666856.40	18	
	TOWER C RCC WORK						
199	TOWER C 9TH FLOOR MASONRY WORK LABOUR FOR BLOCK WORK (SQFT)	7,576.62	SQFT	51.00	386407.62	18	
200	TOWER C 9TH FLOOR INTERNAL SINGLE COAT PLASTER WORK	7,370.02	30.		300 107.102	-10	
	LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	54.00	409137.48	18	
Spc.	TOWER C PLASTER WORK						
201	TOWER C 9TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,576.62	SQFT	42.00	318218.04	18	
Spc.	TOWER C PLASTER WORK						
202	TOWER C 10TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,602.64	SQFT	220.00	1672580.80	18	
Spc.	TOWER C RCC WORK						
203	TOWER C 10TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,602.64	SQFT	51.00	387734.64	18	_
204	TOWER C 10TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,602.64	SQFT	54.00	410542.56	18	
Snc	TOWER C PLASTER WORK						_

	have pleasure in placing with you our Work order for t er the instruction given by our site incharge.	he following contr	act kindly e	execute the work			
205	TOWER C 10TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,602.64	SQFT	42.00	319310.88	18	
Spc.	TOWER C PLASTER WORK						
206	TOWER C 11TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,630.62	SQFT	220.00	1678736.40	18	
Spc.	TOWER C RCC WORK						
207	TOWER C 11TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,630.62	SQFT	51.00	389161.62	18	
208	TOWER C 11TH FLOOR INTERNAL SINGLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,630.62	SQFT	54.00	412053.48	18	
Spc.	TOWER C PLASTER WORK						
209	TOWER C 11TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,630.62	SQFT	42.00	320486.04	18	
Spc.	TOWER C PLASTER WORK	· · · · · · · · · · · · · · · · · · ·					_
210	TOWER C 12TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,655.49	SQFT	220.00	1684207.80	18	
Spc.	TOWER C RCC WORK						
211	TOWER C 12TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,655.49	SQFT	51.00	390429.99	18	
212	TOWER C 12TH FLOOR INTERNAL SINGLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,655.49	SQFT	54.00	413396.46	18	
Spc.	TOWER C PLASTER WORK	7,033.17	30.1	300	113370.10		
213	TOWER C 12TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,655.49	SQFT	42.00	321530.58	18	
Spc.	TOWER C PLASTER WORK						_
214	TOWER C 13TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,219.48	SQFT	220.00	1588285.60	18	
Spc.	TOWER C RCC WORK						
215	TOWER C 13TH FLOOR MASONRY WORK						_
	LABOUR FOR BLOCK WORK (SQFT)	7,219.48	SQFT	51.00	368193.48	18	

216	TOWER C 13TH FLOOR INTERNAL SINGLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,219.48	SQFT	54.00	389851.92	18	
Spc.	TOWER C PLASTER WORK	.,					
217	TOWER C 13TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,219.48	SQFT	42.00	303218.16	18	
Spc.	TOWER C PLASTER WORK						
218	TOWER C 14TH FLOOR RCC WORK FOR SLAB						
0	LABOUR FOR RCC	7,270.36	SQFT	220.00	1599479.20	18	
Spc.	TOWER C RCC WORK						
219	TOWER C 14TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,270.36	SQFT	51.00	370788.36	18	
220	TOWER C 14TH FLOOR INTERNAL SINGLE COAT PLASTER WORK	·					
	LABOUR FOR PLASTER (SQFT)	7,270.36	SQFT	54.00	392599.44	18	
Spc.	TOWER C PLASTER WORK						
221	TOWER C 14TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,270.36	SQFT	42.00	305355.12	18	
Spc.	TOWER C PLASTER WORK						
222	TOWER C 15TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,738.62	SQFT	220.00	1702496.40	18	
Spc.	TOWER C RCC WORK						
223	TOWER C 15TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,738.62	SQFT	51.00	394669.62	18	
224	TOWER C 15TH FLOOR INTERNAL SINGLE COAT PLASTER WORK	7 720 42	SOET	54.00	417005 40	10	
Spc.	TOWER C PLASTER WORK	7,738.62	SQFT	54.00	417885.48	18	
225	TOWER CAETH FLOOR EVERNAL ROUGH						
225	TOWER C 15TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,738.62	SQFT	42.00	325022.04	18	
Snc	TOWER C PLASTER WORK	7,730.02		.2.00	323022.01		_

TOWER	C 16TH FLOOR RCC WORK FOR SLAB						
LABOU	JR FOR RCC	7,764.64	SQFT	220.00	1708220.80	18	
TOWER	C RCC WORK						
TOWER	C 16TH FLOOR MASONRY WORK						
LABOU	JR FOR BLOCK WORK (SQFT)	7,764.64	SQFT	51.00	395996.64	18	
COAT P	C 16TH FLOOR INTERNAL SINGLE PLASTER WORK						
	JR FOR PLASTER (SQFT)	7,764.64	SQFT	54.00	419290.56	18	_
TOWER	C PLASTER WORK						
	C 16TH FLOOR EXTERNAL DOUBLE						
	JR FOR PLASTER (SQFT)	7,764.64	SQFT	42.00	326114.88	18	
TOWER (C PLASTER WORK						
	C 17TH FLOOR RCC WORK FOR SLAB						
	JR FOR RCC	7,657.82	SQFT	220.00	1684720.40	18	_
Civil wo	ork up to plaster from 17th floor to oor						
	C 17TH FLOOR MASONRY WORK	7 (57 02	COET	54.00	2005 40, 02	40	
	JR FOR BLOCK WORK (SQFT)	7,657.82	SQFT	51.00	390548.82	18	_
	C 17TH FLOOR INTERNAL SINGLE PLASTER WORK						
LABOU	JR FOR PLASTER (SQFT)	7,657.82	SQFT	54.00	413522.28	18	
COAT P	C 17TH FLOOR EXTERNAL DOUBLE PLASTER WORK						
	JR FOR PLASTER (SQFT)	7,657.82	SQFT	42.00	321628.44	18	_
	C 18TH FLOOR RCC WORK FOR SLAB	7 (05 44	COET	220.00	1/00730 90	40	
	JR FOR RCC ork up to plaster from 17th floor to or	7,685.14	SQFT	220.00	1690730.80	18	_
TOWER	C 18TH FLOOR MASONRY WORK						
LABOU	JR FOR BLOCK WORK (SQFT)	7,685.14	SQFT	51.00	391942.14	18	_
COAT P	C 18TH FLOOR INTERNAL SINGLE PLASTER WORK	7,685.14	SQFT	54.00	414997.56	18	
TOWER	JR FOR PLASTER (SQFT) C 18TH FLOOR EXTERNAL DOUBLE PLASTER WORK	7,065.14	3QF1	54.00	414777.30	10	_
	JR FOR PLASTER (SQFT)	7,685.14	SQFT	42.00	322775.88	18	
	C 19TH FLOOR RCC WORK FOR SLAB						
LABOU	JR FOR RCC	5,811.86	SQFT	220.00	1278609.20	18	
	ork up to plaster from 17th floor to	5,811.86	SQFT	220.00	1278609.20	_	18

	have pleasure in placing with you our Work order for	the following contr	act kindly	execute the work			
	er the instruction given by our site incharge.						
239	TOWER C 19TH FLOOR MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	5,811.86	SQFT	51.00	296404.86	18	%
Spc.	Civil work up to plaster from 17th floor to 19th floor						
240	TOWER C 19TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	5 044 04			0.44000.40		0.4
	LABOUR FOR PLASTER (SQFT)	5,811.86	SQFT	42.00	244098.12	18	%
241	CLUB HOUSE BASEMENT CIVIL RCC WORK						
	LABOR FOR RCC SLAB (SQFT)	4,184.90	SQFT	257.00	1075519.30	18	%
242	CLUB HOUSE BASEMENT CIVIL MASONRY						
	WORK LABOR FOR MASONRY/PLASTER WORK	4,184.90	SQFT	110.00	460339.00	18	%
	(SQFT)	7,104.70	JQI I	110.00	400337.00	10	/0
243	CLUB HOUSE GROUND FLOOR CIVIL RCC WORK						
	LABOR FOR RCC SLAB (SQFT)	3,239.68	SQFT	257.00	832597.76	18	%
244	CLUB HOUSE GROUND FLOOR CIVIL MASONRY WORK						
	LABOR FOR MASONRY/PLASTER WORK	3,239.68	SQFT	110.00	356364.80	18	%
	(SQFT)	,					
245	CLUB HOUSE SWIMMING POOL RCC WORK						
	LABOR FOR RCC SLAB (SQFT)	1,300.00	SQFT	250.00	325000.00	18	%
246	CLUB HOUSE SQUASH COURT CIVIL WORK						
	LABOR FOR RCC SLAB (SQFT)	1,353.00	SQFT	257.00	347721.00	18	%
247	CLUB HOUSE SQUASH COURT CIVIL WORK						
	LABOR FOR MASONRY/PLASTER WORK	1,353.00	SQFT	110.00	148830.00	18	%
248	(SQFT) COMMON CIVIL WORK						
	LABOR FOR 4.5" MASONRY WORK (SQFT)	385.75	SQFT	15.00	5786.25	18	%
249	COMMON CIVIL WORK						
	LABOR FOR 6" MASONRY WORK (SQFT)	78.00	SQFT	15.00	1170.00	18	%
250	COMMON CIVIL WORK			-			
	LABOR FOR 9" MASONRY WORK (SQFT)	875.38	SQFT	20.00	17507.60	18	%
Spc.		0.0.00			.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
252	COMMON CIVIL WORK						
	LABOR FOR INTERNAL PLASTER (SQFT)	2,683.29	SQFT	15.00	40249.35	18	%
253	COMMON CIVIL WORK						
	LABOR FOR RCC SLAB (SQFT)	177.15	SQFT	95.00	16829.25	18	%
254	COMMON CIVIL WORK						
	LABOUR FOR RCC COLUMN (CFT)	251.31	CFT	130.00	32670.30	18	%
255	COMMON CIVIL WORK						
	LABOR FOR BEAM (CFT)	138.37	CFT	130.00	17988.10	18	%
256	UG TANK RCC WORK FOR SLAB						
	LABOR FOR RCC SLAB (SQFT)	2,905.46	SQFT	150.00	435819.00	18	%
Spc.	U.G.Tank RCC Slab work.						

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

Spc. U.G Tank slab internal plaster aspire project.

Contract Amoun	t (A) 179253173.45
Total GS	T (B) 32265571.08
Total (A	+ B) 211518744.53

Terms & Conditions

SAFETY TERMS

- 1) Work Compensation (WC) Policy is a must for every contractor.
- 2) Required all their laborers Aadhar card copy and Passport size Photo.
- 3) All PPES in Contractor Scope.
- 4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.
- 5) Every Quarterly they must submit a service report of their respective machines to the site incharge.
- 6) Contractor has to maintain enough lighting during night work at site.
- 7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms
- * All responsibilities of goods during transportation and unloding at site by supplier and vendors.
- * Please submit your Bill/invoice along with delivery challan and PO copy in favour of Neptune Realty Pvt. Ltd. At project site office officialy.
- * Biling amount should not exceed the rate and total value mentioned in this WO.
- * Failure to comply with specification, terms and conditions of this order or accepted delivery. schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

For NEPTUNE REALTY PVT. LTD.
Authorized Signatory